Suggested Answers to Revision Exercises 3 of Textbook

Multiple-choice Questions

	Question
	1
	2
	3
	4
	5

	Answer
	D
	C
	A
	A
	B


Structured Questions

1.
(a)    Simple division of labour occurs when a worker specializes in the production of


a particular good or service.
(2 marks)

Complex division of labour occurs when a worker specializes in a particular


stage of producing a good or service.
(2 marks)


(b)    In large fast-food shops, there is complex division of labour.
(1 mark)

Different workers, such as cooks, cleaners and cashiers, specialize in different


kinds of work.
(1 mark)

(c)    Practice makes perfect. Workers' skills will improve and that raises productivity.

















(2 marks)

Only the best workers will be selected for a particular stage of production or sub-process of production. Thus, productivity also increases. 


(2 marks) 

There are economies in capital goods. Fewer sets of tools are needed for production.












(2 marks)

2. (a) Division of labour.
(2 marks)


(b)(i) The quality of food or service is better than that without division of labour
(1 mark) 



because only the skilled workers are chosen for given posts. As time goes by,practice makes perfect, better skills improve the quality of food and service.
(2 marks)


(ii) Less time will be required for staff training because jobs are specialized.
(2 marks)


Moreover, time is saved in passing from one job to another. 
(1 mark)

3. (a) It is not desirable because 'painting' needs 'individuality'.
(2 marks)

(b) It is not desirable because 'fashion design' needs 'individuality'.
(2 marks)

  (c) It is not desirable because medical treatment is a 'continuous' process. If only one doctor 

handles the treatment of a patient, he will have a better knowledge of the patient's health 

conditions. Thus, treatment improves.
(2 marks)

4. (a)Mr Lee is wrong. He is specializing in teaching.
(2 marks) .


Thus, he is engaged in simple division of labour, which occurs when a worker


specializes in producing a particular good or service.
(2 marks)


(b)(i)Complex division of labour has occurred.
(1 mark)


Mr Lee and the the clerk are specializing in different stages of the working process. Mr Lee specializes in teaching, but the clerk specializes in other duties.
(2 marks)


(ii) Yes, they do.
(1 mark)


Mr Lee will teach better when he specializes in teaching only. 
(2 marks)
